neo- D[Integrate[1/ (x~3+1), x], X]
Simplify[%]
1 -1+2x 2

Out[29] - +

3(1+x] 6 (1-x+x?] 3 (1+3(-1+2x)?)

1

1+x3

Out[30]=

1= Simplify [Sq rt [X"Z] ]

outi3i]= 1/ X2

In[32]:= Simp'Lify[Sqrt [X"Z] ;) X > 0]

out[32]= X

oz~ Simplify [Sqrt[x~2], Element[x, Reals]]

ouss- AbS [X]

nz4- COS [k Pi]

ouaa- CoS [K ]

oz~ Simplify[Cos[kPi], Element[k, Integers]]

Out[35]= (— 1) k

In[44]:= C'I.ear[F]
F=2a+2Sqrt[a-Sqrt[-b]] Sqrt[a+Sqrt[-b]]

Out[45] 2a+2\/a—\/j \/a+\/I

In[46]:= Simplify[F, a>0&&b > 0]

a++/al+b )

In[47]:= Simp'Lify[F, {a >0, b> 0}]

a-+1\/ a2 +b )

o~ Simplify[F, Assumptions » {a >0, b > 0}]
outf4gl= 2 (a +~jal+b )

Inf4g]:= Solve[x"Z +ax+1==0, x]

ougas) {{xﬁi (_a_«/—4+a2 )}, {x-> % (—a+x/—4+a2 J}}

nso- Solve[x"2+2y”3 == 3681&&x > 0 &y > 0, {X, y}, Integers]
out[50]= {{X% 15,y > 12}, {X»41, y - 10}, {Xe57, y96}}

Out[46]= 2

out47]= 2




In[52]:= Solve[{x +Y==1, 2X +Y == 3}, {x, y}]
out[52)= HXAZ, y—>—1}}

ns- DSolve[y ' [X] +Y[X] = aSin[x], Y[X], X]

1
sl 1Y [X] »e*C[1l] + —a (-Cos[Xx] +Sin[x]
out[s3] {{ > +2 ( + >}}

wsa- DSolve[{y ' [x] +y[x] =aSin[x], y[0] = 0}, y[x], X]

1
ousal- {1Y[X] = -—ae* (-1+e*Cos[X] -e*Sin[x]
T )
nser- S = NDSolve[{y ' [x] == y[x] Cos[x +y[x]], y[@] == 1}, y, {x, @, 30}]

outs6]- {{ye InterpolatingFunction | bomain: {0., 30.3 ”}

Output: scalar

ws7- Plot[Evaluate[y[x] /. s], {x, 0, 30}, PlotRange - All]

out57]= -




wse- ParametricPlot[Evaluate[{y[x], y'[x]1} /. s], {x, @, 20}]
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Out[58]=

nse)- S = NDSolve[{y "' [x] + Sin[y[x]]y[x] == 0, y[0] ==1, y'[0] == 0}, y, {x, O, 30}]
Plot [Evaluate[{y[x], y'[x], y''[x]}/.s], {x, @, 30}, PlotStyle -> Automatic]

out[59]= {{y - Inte rpolatingFunction[

Out[60]= —
-2

-4

Domain: {{0., 30.}}
Output: scalar
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